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1. What is the solution of 2|x|-|x-1|<5?
(A)-6<x<4 (B)l<x<4 (C)-3<x<4

<jZ47>

®Ox<0 » -2x+x-1<5 » x>-6

@0<x<1 > 2x+x-1<5 » 3x<6 » Xx<2

@1<x » 2x-x+1<5 » x<4

R P~ B 4 ] -6<x<4 0 HA -

40 &)

(D)-2<x<4

2. 2% (7.2)'=(0.8)'=3 » ﬁlizv
Al B2 (©)3 (D)4
<jate>

(7.2)'=372=3:

(o S)y—3 3083

3x—3}———9 32’%- —2 ., B

3. deg fl)23 > 1wkl 7 fx) Skt G 2x-3 0 0t
G (Pt (x-1) 5718 ehd 3N A

<fF{7>

f(X)=(x2-x+1)p(x)+2x-3

f(x)=(x-1)q(x)+1

£ f(x)= (x2-x+1) (X-1)r(x)+m(x2-x+1)+2x-3

> f(1)=m-(1-1+1)+2-3=1 > m=2 » £} =2(x2-x+1)+2x-3=2x2-1 » EA o

% )it 5 1 Bl ()
> (A)2x*-1 (B)3x*-1 (C)2x*-x-1 (D)3x%-x-1
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4. A 1s a positive irrational number, b is the decimal part, and a+b2=m m 1S a positive

whole number. What is the value of 5? (A‘H\/_ (B‘H\/_ (C (D\ H\/_
<f%47>
£ aﬁ’lffﬂzfﬁ A 4n s Fra=n+b it ~ a+b?=m
#b%+b=(m-n) 5 — A # » ¥ 0<b<l > #7r10<b+h?<2
cbHp2=1 s b D120+ b= 2 b>0 - p=20 s EC
5. % 2; 4/%&80%"’5”3 J\IOO Fu 0 l\ "L‘fggﬂl x_?,ilj ' 40 soena ’.k’ﬂ

5

F] x40 5o Rt pt BB L eIk T X
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(A)7 (B)8 (C)9 (D)10

<fz47>

r)\anz\‘rﬁflrn/k wmﬂ J\/L}i@i

3 _ 40 _ 3\2 .

ar= O%X(l-ﬁ)— 80%XE , a2—80%><(1-ﬁ)— 8O%X(E) ,

= 80%X (2)'<1% ()<=

.'.nlog§< IoggiO » n(log3-log5)<-log80 - n(log3-log5)<-(log10+3log?2)

1.903

' F g;zw;cgm VK3 /m&f’r;&
-3 1%2 (log2=0.3010 » log3=0.4771)

D =80% X (1-—)= 80% X (2)"

.n(0.4771-0.699)<-(1+3X0.301)-0.2219n<-1.903 » N> 8,576
An% 29=x » :EC o
6. ®fx)=x2axta > FERF Box o ERA)>2E 2 0 RF Beahis F?

(A)-1<a<2 (B)-2<a<l1
<f#47>
x2-2ax+a>-2 » x*-2ax+a+2>0
] w) X D=(-2a)*-4(a+2)<0 >
a*-a-2<0 > (a-2)(a+1)<0 > -1<a<2
EA -

(O)-1<a<3 (D)-2<a<3

> 4258 (log2x) (log3x)=1z. =133 a ~ B Bla B=?
(A) = (B) == (O)6 (D)-6
<fiz 47>
7 5° =(logx+log2)(logx+log3)=1
(logx)>+(log2+ log3) logx + (log2 log3-1)=0
£ t=logx - t*+(log2+ log3) t+ (log2 log3-1)=0
3425 loga ~logpf
log a + log 5 =-(log2+log3)
logar 5=-log6 - logar f=logz o B=2 > & A
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3. 4 out of 6 people will visit cities A, B, C, and D. Each city has to have one visitor and

2x -x+2 N E ) o .. ey . . )
8. flx )_ ' XER» F fx)E] Ba> B E Do R ath=? each visitor can only go visiting one city. Thus, Alex and Leo are not going to visit
(A)S (B) 6 ©)7 (D)3 _ ::;;cr}; D, then there are types of visiting plans.
< g;+fr> fa e . -
2 B AP A4 A TR TP-F A2 - F P D
byl 2+x+1 P YXPHYXHY=2X-X+2 P§-2xP3=360-120=240 #&

(y-2)x2+(y+1)x+(y-2)—0
Oy-2=0=>y=2 > 3x=0 > x=0

(1+2x) -1
@ y-2# 0> (y-2)X*+(y+1)x+(y-2)=0 &E_x eh— <~ = =t > f25% > § 7 49 4, F BBNY s XPEniagkE o
D=(y+1)%4(y-2)(y-2)=0 <fair>
-3y?+18y-15>0 » 1<y<5 PTG (142x) BRS¢ ehg bl
Cy=f) B B 10 X &5 B ath=1+5=6 » i¥ B o B Co (1) (2x)=2k-C3xk

B k=3 » % #=2>-C3=80

S ~NHEAARE(FEES A 0 2 40 & — _
o AL(E AL ) 5.In A\ABC, AC=10v/3, AB=10, . B=120°, find the area of AABC is .

. . 2 . z

1. The sequence <a,> satisfying a;=2, a,,+1=%a,,. Find a,= ) <fEtT> 1
<fzi5> AABC & = x10x10v3xsinA

’ ak+1_k;2ak k=1~ 23~ 0 L 10V3 10 _ 1())(‘/75_1

3 ¥ - =—=Psin
k=1 > a=-a; sin120°  sinC 10\/_ 2
- 4 S, 2C=30° £ 150° (# & 5 = &75p £40=180° )
- a3‘§az >  A=180°-120°-30°=30°
k=3 » ays==a
i AABC & # ——><10><10\/_><51n30°=—><10><10\/_><——25\/_

k=n-1 - as=2a
i;\:?:ui):nzali.i.i.é ....... N 6. %—1;&34 % e ,12 B - £ o1 B& F%ﬁ'ﬁé}m:ﬁ{“:’galzﬁx4 B
— g, "D 2"<"+1> 1+n2 t e Kigh > 4of B Bt 'E"”—’ *&m’ RIFFEg@S - Fx—£7 5 BREE -
2 Plig— & & ki i e 5 :
<f%47>

5 7 5 7 7X6X5 7X6X5
C0'C4_C1'C3_ 1><3><2><1 5><3><2><1_1 7 35_57_19

2. BAHS 14T~ 10~ 13~ L BHAIRERE A~ Ap~ A3~ 223 P

Al Ay 2 > 7 75 #&F 2 Bfra ° , Ad I ci? Ci? 99x5  99x5 99 99 99 33
<f3e> A3 !
()1-4-7-10+13+ ... A2 414 _ . ey o MAm=A+B\D
. LD X332 At 414 71717 7. XER » y=2+2(sinx-cosx)+sin2x 2.~ B & M B B 5 m > F M+tm=A+BV2 »
% NI e 1+(n- =3n+
X n:20 5 a20:3><20‘2:58 4 4| 7 7 7| ].O 10 ].O ].O| A B ,1» gﬁi El ﬁii"]’(A, B) o
(2) & 1X1+2X4+3 X 7+...+20X 58 jﬁ;ﬁ? i<i<\3
w20 A 20 12§20 1 ny 20021641 20x21 4 t=SINX-CoSX "."XER . .-V2<t<\/2
=2im K(3k-2)73 D k-2 iy k=3 —=—-2x===8610-420=8190 p t2=1-2sinxcosx=1-sin2x=»sin2x=1-t>
B 7% = y=2+2(sinx-cosx)+sin2x=2+2¢+(1-£%)
= 2H2043=-(t-12+4 » A2<<\2
P~ t=1 > max=4
B t=-2V2 0 min=1-2V2
D M+n=4+(1-2v/2)=5-212
'-'(As B):(Ss _2)
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<fz47> B /\ A

A(2V3cos0, 4sind) » 0<6<> .
o]

u=2+/3cos@ X 4sinf X 4 . 5

=324/3sinfcosb

=16+/3sin26 > 0<26<m

B At uEot & 16V3 0 T M=16V3

635 ABCD 2. % £ % v=(2v/3cosf+4sinf) X 4
=8+/3cosh+16sind

2
B Ly bt 3 ,/(Sx/?) +16°=8+/7

S N EAE(EALL0 A 0 £ 20 A)

Lo (1)A f2 x4y
QP § &5 5B Alea R T I
HELR Ken z=n'ta 2 L ¥ -

<fZ47>

(1) X4+4y4: x4_|_4x2y2_|_4y4_4x2y2

=(x*+21%)*-(2xy)?

=(x*+2y°+2xy) (x*+2)°-2xy)

(2)% =4k k=2~ 3 4~ 5~ eeenns

Bl % z=n* a4k =(n*+ 2K+ 2nk)(n*+2k*-2nk)

¥ E B p REen ok k=20 71

W2 2nk=>n*+ 212 -2nk=(n-k*+i*=>k* >4

Stk 2nk 2 P2k -2nk A& ] e 2R
HE B D k(22) 4P a=4k > z=n*ta F § L[ e o

(t+500)~ (B kg 2 a2 3 L =03 F) R W ER > oy * £ 508
%?%é’@%l%ﬁﬂﬁo%%*%uﬁﬂﬁﬁﬁﬁ?

<fzt7>

©F1% a~b>0D>Vab (4 azb ¥ > £ E )

@3 F SR ARA 0 SUAT ISR B0 Fap g F b B | R R fer (D)=
SRR

L T inE x a!gjt; y ~ > @g}#ﬁ'%; yt ~

yt=500+(500+1)+(500+2)+....+ (500+t-1)+500000

2
yt:z(500+5oo+z.1)+500000 , yt:Z +j99z+500000

t+999 500000 _t 999 500000 t 500000 999
= =+ + >2 |=x + =
2 t 2 2 t 2 t 2

_ 500:)00 » 210000000 > t=1000 » y F # -] & - A 1000 =
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